e 2dolA A O 7FaABC o] HL W, x + y+ z & 271=?

A

Q

@® 30° @ 60° @90° @ 120° ® 130°
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LOAC = /OCA
/0OCB = /OBC
/OAB = /OBA

Z, AABC 2| HZhe] 2 2x + 2y + 2z = 180°0| D&
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o2 23 22 WPAEFE ABCD 9] S92 ol 40em |t}
BC = 12cm ¢ ©, CD 9] Zo]=?
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B~~-12em--"C

@ 6cm @8em @ 10cm @ 12cm ® 14cm

AD = BC = 12cm
AB=CD o|B2=&
CD = (40 — 24) + 2 = 8(cm)
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O 23° @ 25° @ 28° @33° ® 35°
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M E oA AB o BHSI == HHS 10 AD o Tt
F 2} 5} /DEF = 23°

wabA LEAB = /FEA = 56° - 23° = 33°
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& 1337 28 gABCD |4 AB = DC,
AD = BC °|¥ 0ABCD = HIAHAF LS
SHote goltt. Hl Trofl S04 A F
A 2 A7 B

2 AC & T1o]HH of
CBA 9] 55720 dr.
AB=( ® )9, AD=( @ ) o2&

AADC = ACBA ( ® %)

/BAC = /DCA, /DAC = /BCA( @ )

webd = el o] 22t (®) )SFEE nABCD = HaA}
Hagolt.

® CD @ CB
® S8 (@)AB = DC,AD = BC
® Y

@ AB//DC,AD // BC







@ AC = 10cm © /B=60°

® «£=30°

@ aABC & AB = AC ¢l o5 84Z4%0| 22 AC = 10em
©, ® AABC £ olsHdAF B2
/B =/C=30°




kS = T 227 ABC, DEF 7} A2 $H50] 5= 2 70] ofd
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@ AB =DE, BC =EF @ AB =DE, /A= /D
@AA:AD, (C = /F @ /A = /D, AC =DF

® AC=DF, BC =EF

Al Hzto] Zotal siA gHgolzt 28 = /it
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SHES 0 & o, /BAC = 50° ot} sx 9] 27|&2?
A
50°
O
T
B C

@® 60° @ 70° ® 80° @ 90° (3))100°

/OAB = 50° °]1, /OAB = /OBA
m2tA LOBA = 50° ©|t.
x = 50° + 50° = 100°
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@ 4cm @ 5cm @6cm @ T7cm ® 8cm

Aol A Al Hof] o]2E A2le BoER x =y =




11. 2ABC oA A 1= WAL o, x9] 27|17

A

B<28 C

D 56° @ 84° @1o4° @ 118° ® 124°

1 1
Ax:90°—|—§AB ojm=z 1x:90°~|—§x28°:104°




12. 0ABCD + BPAHPC|L M, N2 F A
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@ 8cm? @ 10cm? @ 12cm?

@®)16cm? ® 24cm?

ANCD =2 x ACQN

ANCD = AMND

AAND = 2x AMND 0|22

AAND = 4 x ACQN = 16(cm?) o[t}
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15. o3 I9olA 91+ aABC o Yol Al i D,E,F & WHY
o A7E ABC ° Y W, BC ¢ deol=?

® 6cm @ 7 cm ® 8 cm
C@)QCm ® 10 cm

B ~

A 17 Az ] YAol22 AD = AF,BE = BD,CE = CF
olmg

AD = AF = 2cm, BE = BD = 5¢cm, CE = CF ©|t}.

CF = 4cm = CE °|t},

~BC=BE+EC=5+4=9(cm)




